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30.

SECTION - II
MATHEMATICS

5 dozen + 2 gross = ? dozens
(1) 28 2) 29
3) 25 4) 27

The numbers divisible by 37 are arranged in ascending order. What will be
the number at the sixth place?

(1) 1438 (2) 185
(3) 111 (4) 222

If 12th August 2017 was Saturday, then which days would occur 5 times in
August?

(1) Thursday, Friday, Saturday (2) Sunday, Monday, Tuesday
(3) Tuesday, Wednesday, Thursday (4) Wednesday, Thursday, Friday

If the difference between two decimal fractions is 4.585 and one of the fractions
1s 3.256, then what is the other decimal fraction?

(1) 1.329 2) 7.851
3) 1.349 (4) 7.841

Choose the incorrect option.
(1) 100m = 1 hectometer (2) 1000/ = 1 kilo liter
(3) 1kg = 10 hectogram (4) 1gm = 100 decigram
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(1) 1.329 2) 17.851
(3) 1.349 4) 7.841

IINTRNG F3 BH), TWOXRFOL 1OTOERD.
(1) 100:0¢ = 1 TBRE. QOC. (2) 10009¢ = 1 3Bpe. De.
(3) 18.m &7 = 10 TBrg M, &F (4 1M &7 = 100 Bam, &5

28
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33.

34.

Find the percentage of the shaded portions in the adjoining figure.

() 25 % 2) 4%

3) 75 % 4 7%

What is the difference between the smallest 3 digit odd number and the greatest
2 digit even number?

1 5 2) 7

3) 0 “4) 3

What is the difference between the first and the last number if 5.435, 5.084,
5.123, 5.064 are arranged in ascending order.

(1) 0.371 (2) 0.351

3) 0312 4) 0.361

Vijayrao purchased 30 dozen oranges at the rate of Rs. 50 per dozen. 15 oranges
were spoiled. He sold the remaining oranges at Rs. 6 per orange. How much

profit or loss did he earn in this transaction?
(1) Profit of Rs. 570 (2) Loss of Rs. 570

(3) Loss of Rs. 345 (4) Profit of Rs. 345

SPACE FOR ROUGH WORK
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36.

37.

38.

If 15kg 500gm of rice is filled in a box then how much rice will be required
to fill 10 such boxes?

(1) 115kg (2) 155kg
(3) 1150kg (4) 150kg

A bottle can contain 125ml of scented oil. How many bottles will be required
to fill 4/ of scented oil?

(1) 32 2) 24
3) 50 4) 34

3A 40 is completely divisible by 6. Which numbers will occur in place of
O and A respectively?

1) 3,2 ) 3,4
3 2,3 4 5,1

Which fraction of the following options does not indicate the equivalent fraction

of the unshaded portion in the given figure?

A

oNEN

(1) 2)

5’00 WD

(4)

W=

3)

SPACE FOR ROUGH WORK
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39.

40.

41.

42.

In how many years the principle amount of Rs. 4,000 will get double at the
rate of 10 % p.a. by simple interest?

(1) 20 ) 10

3) 5 4) 2

In the adjoining figure, by how much is the number of triangles more or less

than that of number of rectangles?

(1) more by 2 (2) less by 2

(3) more by 4 (4) less by 4

Which of the following options has the place value of 5, the least?
(1) 54,389 (2) 49,385

(3) 45,389 4) 74,592

Choose the incorrect option from the given alternatives.

(1) of 28 = 12 2) 15 of

o
—+
[E—
N
Il

(3) 12 4) 18 of

Nello RNV IEN
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0801-Kannada Set-A 14 of 32 Contd...




39.

40.

41.

42.

4000 TR. 10% 38T ﬁd@w@@oﬁommd @x% [RE mgoédq gelXle AT0D 2,830,
3 9308 TP msaw QBORTIO?

(1) 20 2) 10
(3) 5 4 2

3INT 5380009, §Ireans FJosdodn REneSnY FosdNog 0T BR e
T, 2T3?

(1) 2 oo 5?523 (2) 2 00T TR
(3) 4 dom ézé% (4) 4 00T TR

3INTHNG T3 CI0T BIRFODTESH 5 85 030D MPE WS AW A2
(1) 54,389 2) 49,385
(3) 45,389 @) 74,592

3SR éfo@ij DOINRE DN e_-ao:'ifaer'\;S DOIREATD e300.

4

(1) 28 © = Je0, = 12 2) — T 15 30, = 12

(3) 14 3 2 Zad = 12 (4) 3 18 Bed, = 12

o 9w
O |0 W

SPACE FOR ROUGH WORK

0801-Kannada Set-A 15 of 32 P.T.O.



43.

44.

45.

46.

47.

504m long wire is cut at 8 places at equal distance. What will be the length

of each piece?
(1) 68m (2) 63m
(3) 56m (4) 54m

Write the correct option from the given alternatives.

(1) 20 +5)+5=20=+5+5 2) 7x8+5=5+8x7

(3) 105 +3 >4 x09 4) 100 x 10 =+ 1 < 100 +

10 x 10

By how much is the sum of number edges and vertices of a cuboid, more

than the difference of the number of edges and faces of a cube?
(1) 8 2) 12
3) 14 4) 6

Harjeet took a loan of Rs. 20,000 from a bank at the rate of 7 p.c.p.a. for 3

years. How much simple interest will he have to pay to the bank?
(1) Rs. 4,200 (2) Rs. 4,300
(3) Rs. 4,380 (4) Rs. 2,400

Complete the following series.

E R R == gl

(1) > < @ < >
(3)i>4;1 (4)<:2;Z
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(1) 68 &oe. (2) 63 oe.
(3) 56 <oe. (4) 54 oe.

FINTRYNG T3 000 BOIREOD o3REMEoNG 9T S00.
(1) 20 +5)+5=20+5+5 2) 7x8+5=5+8x7
(3) 105+ 3>4x09 @) 100 x 10 = 1 < 100 = 10 x 10

VHFOWSAL 90t BY HTURCWOTINY L), LIe0ewd PITW @ord B JRNY
DWNIVBNOT DFOOT Te3Y, BT?

(1) 38 2) 12
(3) 14 4) 6

BT 239,082083 20,000 Te. B.F. J.3e. 1% TOOOT 3 TREAT FwdwON
FOFEON0T SREIBROT. TrMeTT SBR 0T ), W& BRBWIETNIYTO?

(1) 4,200 3n (2) 4,300 Sn
(3) 4,380 Sn 4) 2,400 dm

B0oOT $33W0T FPF WREO.

<= Al = = XX
H > <— @ <— ——>
(3):>2;Z (4)<):2;Z
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48.

49.

50.

S1.

52.

How many times % should be added to %, to get the addition 3?
() 4 2) 3
3) 5 4 2

In a market, if the cost of 17 boxes of mangoes is Rs. 6,035, then what will
be the price of 25 such boxes?

(1) Rs. 355 (2) Rs. 8,875
(3) Rs. 8,625 (4) Rs. 345

Maria had to reach for a seminar at 10.30a.m. but her vehicle got punctured
and she got late by 45min. Then at what time did she reach for the seminar?

(1) 11.30min (2) 11.45min
(3) 1.30min (4) 11.15min

Which of the following options is incorrect?

(1) Any number multiplied by zero, gives the same number.

(2) Any number multiplied by zero, gives zero as the product.
(3) Any number divided by 1 gives the same number as quotient.

(4) Any number divided by the same number gives 1 as quotient.

How many 2 digit numbers have 6 in them?
(1) 19 2) 17
3) 18 4) 21

SPACE FOR ROUGH WORK
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52.

3 3@ 30 2eRATT wIeded 3 WYY

e3

(1 4 2) 3
3) 5 4) 2

3 B emRmrosny),

|

FoBoNY 17 SRS BN B3S 6,035 Tp. B, TMTT QoBI 25 BRI
FeAne B3S aR?

(1) 355 3w (2) 8,875 dw

(3) 8,625 dm (4) 345 Tw

BROTRIR 2,000 FeWTOR BBWT NoEdR [0WLIEFTNBY STT B¢ T
doswd ejﬁcé@od BN m@sw Not3 BB TOMORT 9:3%0 @abw not3nt
ﬂe&amd@é dw&gﬁd%ﬁo?

(1) 11 Ro. 30 Q02 ) 11 Ro. 45 Q0280
(3) 1 mo. 30 Qe @) 11 mo. 15 02

FINTRNGY, 0IRE DT 03RenEoNG?

(1) o3nRBe BoBR BeF o MIBITT MOFT0 WKde Foss, WIdRTO.
(2) ocnRBe Bodnt BAFD0T ROEBITT MOFET 3R, WIT.

(3) onRBe BodR 2.0T00T GPNATT LPMFIT TSe Fo, LTITTD.
(4) onBe BodR wide F0s3,C0T PNATT GRMPTT 2,00 LTS,

STEot Ro PO, 6 B wos VDT TR IR?
(1) 19 2) 17
3) 18 4) 21
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53.

54.

5S.

56.

57.

What remains if 10 1s subtracted from 10 % of 200?
(1) 10 (2) 20
(3) 180 4) 190

Which of the pairs is neither co-prime nor twin prime?

82 | 88 71 | 73 41 | 43 29 | 31
(1) 82, 88 2) 71, 73
(3) 41, 43 4) 29, 31

Sameer wrote six lakhs seven as 6000007 by mistake. By how much is his

answer wrong?
(1) 54000 (2) 5400000
(3) 600007 (4) 5040000

(B4343) =0

4 6 8
) 55 @ 13
3) g @ 24

A fencing is to be put around a square shape garden with area 625sq.m. What

will be the expenses for a 4 layered fencing around it, if the rate of fencing

1s Rs. 50 per meter?
(1) Rs. 5,000 (2) Rs. 50,000
(3) Rs. 2,000 (4) Rs. 20,000
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200 T Bezwe 10 00T 10 FRERD [RRTT AR, GVYOINFTO?

(1) 10 (2) 20
(3) 130 4) 190

FBNTRNTE), 03N XReR WeLRWRY VY, WY AT WRVFP 3L2

82 | 88 71 | 73 41 | 43 29 | 31
(1) 82, 88 @) 71, 73
(3) 41, 43 @) 29, 31

B0 ‘s 07 ¢’ B Fogd @00 WICIVTNR LEZO IR, 6000007

Gert WIBR BMeTT BVB3 DR, [ITYANT IRBO?

(1) 54000 (2) 5400000
(3) 600007 (4) 5040000
3.5 .5 o
(7+5+3) = o=

2 13
() 557 2) 1%

3 5
3) lyg “4) 254

625 P.Q0¢. TPPO QTR WPTYS TRTRE 4 YT BBRCY TIBIH BTN

50 S B MOew0 TOTF AR, MDF WHT?
(1) 5,000 S
(3) 2,000 Bn

(2) 50,000 B
(4) 20,000 I

SPACE FOR ROUGH WORK

0801-Kannada Set-A 21 of 32

P.T.O.



58.

59.

60.

61.

Under a tree plantation programme, a social welfare organisation decided to
plant trees at Skm distance on 100km long road, on both the sides. How many
trees can be planted?

(1) 40 () 42
(3) 20 4) 21

Sandeep has a bundle of notes of Rs. 100 from serial number 42378 to 42432.
If instead of Rs. 100 notes, he wants Rs. 500 notes, how many notes of
Rs. 500 can he get?

(1) 11 2) 55
3) 10 @) 54

Aditya incurred Rs. 9,500 expenditure towards travel for his Kerala trip. He
spent Rs. 7,250 on miscelleneous expenses. How much did he spend in all
for Kerala trip?

(1) Rs. sixteen thousand seven hundred and fifty.
(2) Rs. sixteen thousand five hundred.

(3) Rs. seventeen thousand two hundred and fifty.
(4) Rs. fifteen thousand seven hundred and fifty.

What is the time in the adjacent clock?

(1) 12 2) 9
(3) 8 4) 11
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S8.

59.

60.

61.

2,000 FoFoIB|I FFTURTED FoODFTIT Woremon 100 §.80¢. GvQS TFOD
R00e3 5 8.000. L0BTB 0 WORTOZ ATBR WA NTNRLH ms;@o QGFOTT
2,83, DR, NBNLD TRWBIT?

(1) 40 2) 42

(3) 20 4) 21

FoDEDT BIT 42378 FWHOFOOT 42432 FWHOFS WONS 0woN3ow 1003w
SPCEINT 2,030 WOBST VW. & 100 TRTDING SeeINT WA 500
TRZTROWNE SRetdN 365003 500 SRTDOLNY 2u8dd, ) BReeNsd wTdEm)?
(1) 11 (2) 55

3) 10 4) 54

SOZAR F0Y TEoRT QTN WoWBINT AT Bod DWOF [BY W
TOLOARNT CRTWIOW VBT DDF OB ToMetT F0F TEWATIN L), W),
SR AFE SAW30?

(1) O daa@ﬁw TONT

2) BOTI I AT

(3) =T T AT

(4) TOF abo&dw TONT

WO NROINTTE, FF), FOLCIPNT?

(1) 12 2) 9
3) 8 4) 11
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62.

63.

64.

65.

Find the perimeter of the adjoining figure if the area of every square is 1sq.cm.

(1) 22cm (2) 22sq.cm.
(3) 12cm (4) 12sq.cm.

435 x 1 = =5 = =0

In this multiplication, * has the same digit. Find the digit in place of *.
() 0 2 1

(3) 2 4) 3

Igbal purchased an old motorcycle at Rs. 25,000. He spent Rs. 8,500 on its
repairs, Rs. 2,500 for its colouring and then sold it at Rs. 38,500. How much
profit did he earn in the following transaction?

(1) Rs. 13,500 (2) Rs. 2,500
(3) Rs. 2,850 (4) Rs. 1,550

Which of the following is a correct statement?
(1) The sum of all angles of a square is 180°.
(2) The sum of all angles of a triangle is equal to right angle.

(3) The number of sides of a rectangle is double the number of sides of a
triangle.

(4) The sum of all angles of a triangle is half the sum of all angles of a
rectangle.

SPACE FOR ROUGH WORK

0801-Kannada Set-A 24 of 32 Contd...



62.

63.

64.

65.

3INT 5380DYoD B 1PTIT eBFo 1 1P.3.00e BT $3B0D FTOE SrioW0.

(1) 22 .00 (2) 22 @300
3) 12 A.eoe (4) 12 B.3.0¢

435 x 1 =5 % %0
85 TOFRT0RY, *’ T IYTY, FDNT €08 VT TMTT & ©os CIRRTO?

(1) 0 2) 1
(3) 2 4) 3

VBLPO 25,000 TRTDOWR 2,030 TLOD B DVCOITR. BT TOTIYMOA
8,500 Tp &3 e #REL 2500 On F BRAT [ & IS 38500
TRV BP0 BRETRD TGS 85 FRTIVIY, WRIN R), ToYfmmooiozd?

(1) 13,500 3w 2) 2,500 B
(3) 2,850 dn @) 1,550 dn

FINTRNGE, 03T DEox o3eenmoNcs?

(1) PTIT Towy, Feeane wedewd 180° QT

(2) 33ReIT Y IREING e0ewd WERCITRY, VTR

(3) WPBRIT PrNY o, VT EART PRNY VR VTS,

(4) 330633 2 FReINT IS wledend AT PERTT w FeeIng wIEne
vIeoenis WFFTR), AT0TE,
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66.

67.

68.

69.

70.

Which is the greatest number?

() 091 (2) 0.899
(3) 0.090 (4) 0.900

To help the flood victims, the students of Adarsh Vidyalaya collected Rs. 47,989
and the students of Saraswati Vidyalaya collected Rs. 8,493. From the total
amount if Rs. 50,042 are used for domestic items and remaining amount is

used for food packets. How much amount is spent on food packets?
(1) Rs. 6,340 (2) Rs. 6,440
(3) Rs. 5,440 (4) Rs. 5,340

Which of the following statements is correct?

(1) 25 % = 1025 ) 5% of 20 = 4

(3) 50 % of 50 = 2.5 4) 0.68 = 68 %

What is the diameter of a circular ground whose radius is 7.6m?
(1) 3.8m (2) 152m
3) 14m (4) 7.6m

2.25m cloth is required to stitch a shirt. How much cloth is required to stitch
5 such shirts?

(1) 10.75m 2) 11.25m
3) 8.75m (4) 9.25m

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

70.

F000SFNEY, Hegy TRR, Fos, IR

(1) 091 (2) 0.899
(3) 0.090 (4) 0.900

STIT QTROCDF) 47989 Te BT ITIG DTRECDF) 8493 TR. TROMAT
ATIOIRCINN FOMATT), LT 50042 TR. TOIC0TE3REN TN
RAOTON T3 YVPT D S0B ToFeENG BLVN YVTOSRENATITI. TR0
308 ToBELINY 0N R, VY YVTOIRENITTO?

(1) 6,340 dm 2) 6,440 Tm
(3) 5,440 dm 4) 5,340 dm

$INTHNIE, OIS BCARFODY) FOCIPAS?
(1) 25% = 1025 2) 20 O 3edm 5 = 4
(3) 50 3 33w S0 = 2.5 4) 0.68 = 68%

7.6 Q0¢ &% QTOTW B|BFYITT HYTFT R R?
(1) 3.8 e (2) 15.2 e
3) 14 e 4) 7.6 e

2,000 90N TAGOINT FLTON DT TLO EWT W, BNLORYTD. TMTT
0T LONMR BRSOIVE FLOTIN Wi, AR, LT W, B3eTnIYTO?

(1) = m@é@o (2) Sd@om T

(3) oD dwmﬁw (4) 20203 T
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71.

72.

73.

How much more is the number of divisors of 36, than that of divisors of 24?
(1) more by 1 (2) more by 2

(3) more by 3 (4) more by 4

What will be the consecutive number after seventy five lakhs nine thousand
five hundred and thirty five?

(1) 759536 (2) 7590535

(3) 7509534 (4) 7509536

Under “Tree Conservation” programme, Maharashtra Government planted 8000
trees on Amravati-Akola and Amravati-Yavatmal Highway, on both sides of the

road. If 40 % trees are planted on Amravati-Akola highway, how many trees
are planted on Amravati-Yavatmal highway?

(1) 3200 (2) 4200
(3) 1600 (4) 4800

Instruction for Question No. 74 and 75.

Observe the pictorial information and answer the questions.

In a village, people have different coloured Ration Cards.

Colour of Ration Card No. of houses
White | | | |
N\ N\
Yellow | | | | | |
Orange B

Scale : 1 picture = 100 houses

SPACE FOR ROUGH WORK
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71.

72.

73.

36 T 2.3, Qows Bodnehd 24 T 2.ed), powd B3 NONog R00n Bed), as?
(1) 1 dom (2) 2 dom
3) 3 o503 4) 4 503

DTG T woWE WRT NTR IRTD WRTIR' 85 FoLF00 ToeT LTI
BT Zosl TINTINGY, o302

(1) 759536 (2) 7590535

(3) 7509534 (4) 7509536

‘BT RO[TFS TODFFRO LoINFE mmm% AR RTINS - B R’
B ‘WROTIRE-ONT[SRRY’ 5 WOTIBRNAFNG DT WOR 2832, 8000 NEATO
&zidda wRNY F3 3@ 40 NEAYL ‘BROTRS-BRLD’ B3 BOTHOBRNFT

=oees mswddo. TOMODT  ‘BTORE-0NRIBNY’ OTOIINE D =0eS @d&w
NGB mswdda?

(1) 3200 (2) 4200
(3) 1600 (4) 4800

T 74 =03y T 75 S Feomn BN

3ONT WPTRT BRLID SEROHT IWNT JINEG Wgs WIWO.
20T BYODY, FoF) ROINYY, IR e, WIE TeBT TRV,

Jed TROFNY Wy, BOSNG B0,
we | || |
BHO L]
g M0

Bmeed - 1 33, = 100 ToINh
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74.

75.

What is the number of houses that have orange colour card?
(1) 800 (2) 400
(3) 200 (4) 600

How many times is the number of houses with white card to that of the number
of houses with yellow and orange colour card?

(1) 3 times (2) times

(3) Double (4) times
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74. 330 BB TBEE BRodT RoING ), Fod, HF?
(1) 800 (2) 400
(3) 200 (4) 600

75. U9 U3T BT BRodT SINY Fod, IYD @0y 3eT0 T3 TrE BRoOT
INY Bo e R, Tedd, 2T?

(1) 3 @ @ L 3w,
(3) =B @ 5 B,
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